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2024/06/12 16:00:52 [INFO] [TCPSTAT] #72 Connection: 172.20.10.4:60638 <-> Wil : 8030, connect: 81 ms
2024/06/12 16:00:52 [INFO] [TCPSTAT] #73 connect elink.chd.com.cn:8080
2024/06/12 16:00:53 [INFO] [TCPSTAT] #73 Connection: 172.20.10,4:60646 <-> EEmmmmmm=:8080, connect: 89 ms
2024/06/12 16:00:53 [INFO) [TCPSTAT] #74 connect elink.chd.con.cn:8088

2024/06/12 16:00:54 [ERROR] [TCPSTAT] #74 Connection: 172.20.10.4:60653 <-> Iuwamed: 8089, check fail |
004706717 16:00:50 (INFO] (TCPSTAT] #75 connect elink.chd.com,cn:Bese

2024/06/12 16:00:55 (INFO] [TCPSTAT] #75 Connection: 172.20.10.4:68661 <-> Emewwmmmrm 8080, connect: 90 ms
2024/06/12 16:00:55 [INFO] [TCPSTAT] #76 connect elink.chd.com.cn:8680
2024/06/12 16:00:56 [INFO] ([TCPSTAT] #76 Connection: 172.20.10.4:68669 <-> ERemmmmsss:8080, connect: 101 ms
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Time Destination Proteco! Lengtn Identification

1601 135458233 ! H 54 010060 (6) 56930 » 3088 [ACK] Seqe1 Ack-1 Hin=262144 Ler-d
1602 185.468350 i | 53 046060 (0) 56330 » 3088 [PSH, ACK] Seq=L Ack=L Hin=262144 Len=4 [TCP seguent of a reasserbled PDU]
1663 135.590128 H k 54 @xa2bl (41649) 8089 + 56980 [ACK] Seq=1 Ack=5 Win=64512 Len-0

1685 135.530174 ! @] 56930 -+ 8089 [ACK] Seq=5 Ack=2 Win=262144 Len-0
35347 ] PS4, A =2 Win=262144 Len=4 [TCP seguent of 2 reasserbled POU]
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Protocol Length dentification Info

738 81.187275 i | i 54 0x0200 (0) 56146 » 8088 [ACK] Seq=1 Ack=1 Wi 44 Len=d
73¢ 81.187421 i 58 8x8200 (0) 56146 -+ 8088 [PSH, ACK] Seg= = =262144 Len=4 [TCP segment of a reassembled PD
74e 81.207722 i [l 1 58 08200 (0) 56146 » 8088 [PSH, ACK] Seqs5 Ack=1 Win=262144 Len=4 [TCP segnent of a reassenbled PD
741 81.256533 | HE 54 8x2da8 (11688) 886 » 56145 [ACK] Seq=1 Ack=5 Win=64512 Len=6

ACK] Seq=1 Ack=1 Win-262144 Len-0
PSH, ACK] Seq=1 Ack=1 Win=262144 Len=4 [TCP segment of a reassembled PD

1616 186.572426 HE P 54 %0009 (0) 55991 + 8088
1611 186.572500 (TN | 58 0x606 (6) 56001 + 8088

1612 186.595483 1 HE 54 Oxleea (7914) 8086 -+ 56991 [ACK] Seq=1 Ack=5 Win=64512 Len-6

[
[
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1613 186.672097  [ARAHN I pomd 58 0x0900 (0) 56991 + 8080 [PSH, ACK] Seg=5 Ack=1 Win=262144 Len=4 [TCP segnent of a reassenbled PD
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https://zhiliao.h3c.com/questions/catesDis/2097
https://zhiliao.h3c.com/User/other/24323
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